



This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Annual Street Sealing 2014-15

BID O	PENING	•	ENGINEER'S ESTIMATE American Asphalt				VSS International, Inc.			
	DATE: Thursday, March 5, 2015 TIME: 3:00 p.m.			Date Approved: 2/4/2015 24200 Clawiter Road Prepared by: N. Castelino Hayward, CA 94545				3785 Channel Drive West Sacramento, CA 95691		
			Prepared by:							
	LOCATION: City Clerk's Office	**			Phone: (510) 723-		Phone: (916) 373-150			
					Fax: (510) 723-02	88	Fax: (916) 373-0183			
ITEM NO.		OHANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST		
BASE	ITEM	QUANTITY	UNIT COST	TIEWICOST	UNIT COST	TIEW COST	01111 0031	TIEM GOOT		
BASE I	Traffic Control & Construction Area Signs, Lane	1 LS	\$64,823.45	\$64,823.45	\$66,150.00	\$66,150.00	\$81,025.00	\$81,025.00		
Į.	Closures, and Detours per Sections 215 & 315	1 13	φ04,023.43	ψ04,023.40	φου, 130.00	φου, 130.00	ψο 1,020.00	V 0.110=0.000		
2	Construction Staging/Stockpile Location per Section 7-10.2.1	1 LS	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00	\$5,575.74	\$5,575.74		
3	Emulsion Aggregate Slurry (Final Quantity) per Sections 203-5 & 302-4	132325 SY	\$2.00	\$264,650.00	\$1.82	\$240,831.50	\$2.37	\$313,610.25 *		
4	Asphalt Rubber Chip Seal (Final Quantity) per Sections 203-12 & 302-10	66255 SY	\$4.25	\$281,583.75	\$4.40	\$291,522.00 **	\$5.10	\$337,900.50		
5	Microsurfacing (Final Quantity) per Sections 203-16 & 302-14	24438 SY	\$3.00	\$73,314.00	\$2.34	\$57,184.92	\$2.52	\$61,583.76		
6	Remove and Replace Existing Thermoplastic Stripes, Pavement Markings and Markers per Sections 210, 214, 310 & 312	1 LS	\$116,000.00	\$116,000.00	\$121,600.00	\$121,600.00	\$127,680.00	\$127,680.00		
7	10' Unistrut Sign Post	4 EA	\$160.00	\$640.00	\$200.00	\$800.00	\$210.00	\$840.00		
8	Sign Post Anchor	4 EA	\$55.00	\$220.00	\$100.00	\$400.00	\$105.00	\$420.00		
9	Furnish and Install M6-6 (RT) Sign	1 EA	\$130.00	\$130.00	\$100.00	\$100.00	\$105.00	\$105.00		
10	Furnish and Install M6-4 Sign	1 EA	\$130.00	\$130.00	\$100.00	\$100.00	\$105.00	\$105.00		
11	Furnish and Install R81(CA) Sign	6 EA	\$130.00	\$780.00	\$100.00	\$600.00	\$105.00	\$630.00		
12	Furnish and Install D11-1 Sign	1 EA	\$130.00	\$130.00	\$100.00	\$100.00	\$105.00	\$105.00		
13	Preformed Green Thermoplastic for Bike Lanes	612 SF	\$12.00	\$7,344.00	\$12.00	\$7,344.00	\$12.50	\$7,650.00		
14	Preformed Green Thermoplastic Panels with Bike Rider Symbol	3 EA	\$500.00	\$1,500.00	\$1,500.00	\$4,500.00	\$1,575.00	\$4,725.00		

PROJECT TITLE: Annual Street Sealing 2014-15

	· · · · · · · · · · · · · · · · · · ·	14 10.022					7		
BID O	PENING		1		American Asphalt		VSS International, Inc.		
	DATE: Thursday, March 5, 2015				24200 Clawiter Road		3785 Channel Drive		
	TIME: 3:00 p.m. LOCATION: City Clerk's Office		Prepared by: N. Castelino		Hayward, CA 945		West Sacramento, CA		
				ĮF	Phone: (510) 723-0280		Phone: (916) 373-1500		
_					Fax: (510) 723-02	88	Fax: (916) 373-0183		
ITEM						-		•	
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	
15	Preformed Green Thermoplastic Panels with Bike Lane Arrow	3 EA	\$500.00	\$1,500.00	\$650.00	\$1,950.00	\$682.00	\$2,046.00	
		TOTAL BASE BID:		\$822,745.20	-	\$808,182.42		\$944,001.25	
BID AL	TERNATE A								
A1	Failed Existing AC Pavement Repairs (Dig Outs)	1560 TONS	\$200.00	\$312,000.00	\$232.00	\$361,920.00	\$167.75	\$261,690.00	
A2	Traffic Control & Construction Area Signs, Lane Closures, and Detours per Sections 215 & 315	1 LS	\$46,800.00	\$46,800.00	\$5,000.00	\$5,000.00	\$5,310.00	\$5,310.00	
	TOTAL	BID ALTERNATE A:		\$358,800.00		\$366,920.00		\$267,000.00	
		TOTAL BASE BID:		\$822,745.20		\$808,182.42		\$944,001.25	
	TOTAL BASE BID + ALTE	RNATE BID ITEM A:		\$1,181,545.20		\$1,175,102.42		\$1,211,001.25	
		SUBCOM	NTRACTORS:		Chrisp Company		Chrisp Company		
					1 ' ' '			Central Valley Engineering & Asphalt, Inc.	
SECURITIES:					American Pavement Systems		Central valicy Engineer	ng a riophan, mo	
			TIES:		10% Bid Bond		10% Bid Bond		
					** Math Error Cor Addendum #1 Re		** Math Error Correcte Received	and Addendum #1	
		NOTES:							

Reviewed by:		Date: _	
	Nicole Castelino, Proje	ct Manager	
Reviewed by:	//2.	Date:	3/6/15
	Nick Thom, Senior Eng	jineer -	

Sierra nevada Construction, Inc.



BID OPENING



PROJECT TITLE: Annual Street Sealing 2014-15

3 EA

PROJECT NO.: 2015.007 BID NO.: 14-15.022

ט טום	PENING		LINGINEERS	-OIIMAIL	Joierra nevada Odnsi	il dollori, mo.	Intermountain Oldiny	Jour, me.
		Date Approved:	Date Approved: 2/4/2015 P.O. Box 50760			1005 Terminal Way, Suite 220		
		Prepared by:	Prepared by: N. Castelino Sparks, NV 89435				Reno, NV 89502	
	LOCATION: City Clerk's Office				Phone: (775) 355-04	420	Phone: (775) 358-13	
					Fax: (775) 355-053	5	Fax: (775) 355-3458	3
ITEM NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
BASE I	<u> </u>	QUANTITI	1 01111 0001	112111 0001	1 01111 0001			
1	Traffic Control & Construction Area Signs, Lane Closures, and Detours per Sections 215 & 315	1 LS	\$64,823.45	\$64,823.45	\$118,148.70	\$118,148.70	\$451,060.75	\$451,060.75
2	Construction Staging/Stockpile Location per Section 7-10.2.1	1 LS	\$10,000.00	\$10,000.00	\$11,000.00	\$11,000.00	\$12,500.00	\$12,500.00
3	Emulsion Aggregate Slurry (Final Quantity) per Sections 203-5 & 302-4	132325 SY	\$2.00	\$264,650.00	\$2.40	\$317,580.00	\$1.70	\$224,952.50
4	Asphalt Rubber Chip Seal (Final Quantity) per Sections 203-12 & 302-10	66255 SY	\$4.25	\$281,583.75	\$4.28	\$283,571.40	\$4.25	\$281,583.75
5	Microsurfacing (Final Quantity) per Sections 203-16 & 302-14	24438 SY	\$3.00	\$73,314.00	\$3.55	\$86,754.90	\$2.30	\$56,207.40
6	Remove and Replace Existing Thermoplastic Stripes, Pavement Markings and Markers per Sections 210, 214, 310 & 312	1 LS	\$116,000.00	\$116,000.00	\$165,000.00	\$165,000.00	\$121,600.00	\$121,600.00
7	10' Unistrut Sign Post	4 EA	\$160.00	\$640.00	\$272.00	\$1,088.00	\$200.00	\$800.00
8	Sign Post Anchor	4 EA	\$55.00	\$220.00	\$136.00	\$544.00	\$100.00	\$400.00
9	Furnish and Install M6-6 (RT) Sign	1 EA	\$130.00	\$130.00	\$136.00	\$136.00	\$100.00	\$100.00
10	Furnish and Install M6-4 Sign	1 EA	\$130.00	\$130.00	\$136.00	\$136.00	\$100.00	\$100.00
11	Furnish and Install R81(CA) Sign	6 EA	\$130.00	\$780.00	\$136.00	\$816.00	\$100.00	\$600.00
12	Furnish and Install D11-1 Sign	1 EA	\$130.00	\$130.00	\$136.00	\$136.00	\$100.00	\$100.00
13	Preformed Green Thermoplastic for Bike Lanes	612 SF	\$12.00	\$7,344.00	\$17.00	\$10,404.00	\$12.00	\$7,344.00

ENGINEER'S ESTIMATE

\$1,500.00

\$4,500.00

Intermountain Slurry Seal, Inc.

Rider Symbol

Preformed Green Thermoplastic Panels with Bike

\$1,500.00

\$2,040.00

\$6,120.00

\$500.00

PROJECT TITLE: Annual Street Sealing 2014-15

BID O	PENING	14-10.0EE	ENGINEER'S	ESTIMATE	Sierra nevada Cons	truction, Inc.	Intermountain Slurry	Seal, Inc.
0.2	DATE: Thursday, March 5, 2015		Date Approved:		P.O. Box 50760		1005 Terminal Way, Suite 220	
	·			N. Castelino	Sparks, NV 89435		Reno, NV 89502	
LOCATION: City Clerk's Office		' '		Phone: (775) 355-0	420	Phone: (775) 358-13	355	
	•		ŧ		Fax: (775) 355-0535		Fax: (775) 355-3458	
ITEM	:							
NO.	. ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
15	Preformed Green Thermoplastic Panels with Bike Lane Arrow	3 EA	\$500.00	\$1,500.00	\$884.00	\$2,652.00	\$650.00	\$1,950.00
TOTAL BASE BID: \$822,74			\$822,745.20		\$1,004,087.00	7	\$1,163,798.40	
BID AL	TERNATE A							
A1	Failed Existing AC Pavement Repairs (Dig Outs)	1560 TONS	\$200.00	\$312,000.00	\$157.00	\$244,920.00	\$159.76	\$249,225.60
A2	Traffic Control & Construction Area Signs, Lane Closures, and Detours per Sections 215 & 315	1 LS	\$46,800.00	\$46,800.00	\$6,000.00	\$6,000.00	\$7,000.00	\$7,000.00
	TOTAL BID ALTERNATE A: \$358,800.00			\$358,800.00		\$250,920.00		\$256,225.60
TOTAL BASE BID: \$			\$822,745.20	\$1,004,087.00 \$1,163,798.		\$1,163,798.40		
TOTAL BASE BID + ALTERNATE BID ITEM A:				\$1,181,545.20	\$1,255,007.00		\$1,420,024.00	
SUBCONT			NTRACTORS:		American Pavement	Systems	Chrisp Company	
					Chrisp Company O'Grady Paving			eering & Asphalt, Inc.
SECURITIES:			TIES:		10% Bid Bond		10% Bid Bond	
				** Addendum #1 Re	eceived	** Addendum #1Red	ceived	
		NOTES:						

Reviewed by:	Date:
Nicole Casteline	o, Project Manager
Reviewed by:	Date: 3/6/15
Nick //hom, Ser	nior Engineer





PROJECT TITLE: Annual Street Sealing 2014-15

BID O	PENING	·	ENGINEER'S	STIMATE	Telfer Highway	Technologies
	DATE: Thursday, March 5, 2015		Date Approved:	2/4/2015	4522 Parker Av	enue, Suite 350
	TIME: 3:00 p.m.			N. Castelino	McClellan, CA	95652
	LOCATION: City Clerk's Office				Phone: (916) 3	83-1756
· · · · · · · · · · · · · · · · · · ·					Fax: (916) 246-	7936
ITEM NO.		OHANITITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST
BASE	ITEM	QUANTITY	ONLI COST	TIEWICO31	UNIT COST	TIEWI COST
DASE	Traffic Control & Construction Area Signs, Lane	1 LS	\$64,823.45	\$64,823.45	\$190,000.00	\$190,000.00
	Closures, and Detours per Sections 215 & 315	1 20	ψοτ,σ2σ.4σ	ψ04,020.40	\$100,000.00	\$100,000 .00
2	Construction Staging/Stockpile Location per Section 7-10.2.1	1 LS	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00
3	Emulsion Aggregate Slurry (Final Quantity) per Sections 203-5 & 302-4	132325 SY	\$2.00	\$264,650.00	\$2.25	\$297,731.25
4	Asphalt Rubber Chip Seal (Final Quantity) per Sections 203-12 & 302-10	66255 SY	\$4.25	\$281,583.75	\$4.00	\$265,020.00
5	Microsurfacing (Final Quantity) per Sections 203-16 & 302-14	24438 SY	\$3.00	\$73,314.00	\$2.90	\$70,870.20
6	Remove and Replace Existing Thermoplastic Stripes, Pavement Markings and Markers per Sections 210, 214, 310 & 312	1 LS	\$116,000.00	\$116,000.00	\$121,600.00	\$121,600.00
7	10' Unistrut Sign Post	4 EA	\$160.00	\$640.00	\$200.00	\$800.00
8	Sign Post Anchor	4 EA	\$55.00	\$220.00	\$100.00	\$400.00
9	Furnish and Install M6-6 (RT) Sign	1 EA	\$130.00	\$130.00	\$100.00	\$100.00
10	Furnish and Install M6-4 Sign	1 EA	\$130.00	\$130.00	\$100.00	\$100.00
11	Furnish and Install R81(CA) Sign	6 EA	\$130.00	\$780.00	\$100.00	\$600.00
12	Furnish and Install D11-1 Sign	1 EA	\$130.00	\$130.00	\$100.00	\$100.00
13	Preformed Green Thermoplastic for Bike Lanes	612 SF	\$12.00	\$7,344.00	\$12.00	\$7,344.00
14	Preformed Green Thermoplastic Panels with Bike Rider Symbol	3 EA	\$500.00	\$1,500.00	\$1,500.00	\$4,500.00

PROJECT TITLE: Annual Street Sealing 2014-15

		14-10.0LL	T-110/11-5:5:		Ia			
BID O	PENING		ENGINEER'S		Telfer Highway	_		
	DATE: Thursday, March 5, 2015		Date Approved: 2/4/2015		4522 Parker Avenue, Suite 350			
TIME: 3:00 p.m. LOCATION: City Clerk's Office			Prepared by:	N. Castelino	McClellan, CA 9			
				•	Phone: (916) 38			
					Fax: (916) 246-	7936		
ITEM					1			
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST		
15	Preformed Green Thermoplastic Panels with Bike Lane Arrow	3 EA	\$500.00	\$1,500.00	\$650.00	\$1,950.00		
		TOTAL BASE BID:		\$822,745.20	•	\$976,115.45		
BID AL	TERNATE A		1					
A1	Failed Existing AC Pavement Repairs (Dig Outs)	1560 TONS	\$200.00	\$312,000.00	\$275.00	\$429,000.00		
A2	Traffic Control & Construction Area Signs, Lane Closures, and Detours per Sections 215 & 315	1 LS	\$46,800.00	\$46,800.00	\$45,000.00	\$45,000.00		
	TOTAL	BID ALTERNATE A:		\$358,800.00		\$474,000.00		
		TOTAL BASE BID:		\$822,745.20		\$976,115.45		
	TOTAL BASE BID + ALTE	RNATE BID ITEM A:		\$1,181,545.20		\$1,450,115.45		
·						American Pavement Systems Chrisp Company		
						1 Received		
		NOTES:						

Reviewed by:	Dat	e:
	Nicole Caștelino, Project Manage	•
Reviewed by:	Nick/Thom, Senior Engineer	e: <u>3/6/15</u>